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Vertical Exaggeration
Student Answer Sheet
Part I  The effect of Vertical Exaggeration in an area with large topographic relief
1a. (( X axis units: ________ Y axis units: ________ 
1b. ((X axis difference: _______ 
1c. ((Y axis difference: _______ 
1d. ((South Rim: ________

1e. ((North Rim: ________ 

1f. ((Difference: ________ 

1g. (((Circle the most appropriate underlined word:)  Based upon the profile across this part of the canyon, the trend in the elevation of the plateau is an increase / decrease towards the south. 
1h. ((  

1i. (( ________ 
1j. (( _______ 
1k. (( Inner Gorge width: _______  Number of times main canyon is wider: _______ 
1L. (( ________ 

1m. (( ________   
1n. (( 
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1o. ((
What happened to the rock beneath your line?  


1p. (( 


7a. (( X-axis distance: _______ Units: _______​​​ 

7b. (( Y-axis distance: _________  Units: _______ 
7c. (( Ratio between horizontal and vertical scales is given by:

One centimeter on the X axis     =   ( ________ )  =
One centimeter on the Y axis          (                  )
7d. (( Vertical scale exaggerated by a factor of ________ times. Vertical exaggeration: _______
7e. (( Draw your sketch below.
7f. (( Draw your sketch below.

9a. (( 

9b. (( 

9c. (( X-axis distance: ______  Units: _______​​​ 

9d. (( Y-axis distance: __​​_______  Units: _______ 
9e. (( The vertical exaggeration is given by:

Horizontal scale     =      One centimeter on the X axis     =   ( ________ )  =
Vertical scale                 One centimeter on the Y axis           (                  )
10a. ((


Part II   The effects of Vertical Exaggeration in a relatively flat area

12a. (( Maximum elevation: ________ Minimum elevation: 
  Range: 

12b. (( ________ 

12c. (( X-axis distance spanned by 1 cm: _________  Units: _______​​​ 
12d. (( Y-axis elevation spanned by 1 cm: _________  Units: _______​​​ 
12e. (( The vertical exaggeration is given by:

Horizontal scale     =      One centimeter on the X axis     =   ( ________ )  =
Vertical scale                 One centimeter on the Y axis           (                  )

12f. (( ________ 

12g. (( 


13a. (( 
- Where the range of elevation is small we tend to draw topographic profiles that display a 


vertical exaggeration. (Choose either large or small)

- For any given profile, increasing the vertical exaggeration 
the vertical distortion of the profile. (Choose either increases or decreases)

- For any given profile, increasing the vertical exaggeration makes slopes look 
 dramatic. (Choose either more or less)

14a. (( 

